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#include<iostream>
#include<stack>

using namespace std ;
// "b,a" is valid

// ",a" is invalid
bool is_valid(string s)

{
for(int i = @ ; i < s.length() ; i++)
{
char ch = s[i] ;
if(i%2 == @) // at even index there should be alphabets
{
if(!isalpha(ch)) return false ;
}
else // at odd index there should be ,
{
if(ch !'= ',") return false ;
}
}
return true ;
}

bool recursive_list(string s)
{

stack<char> st ;

for(int 1 = @ ; i < s.length() ; i++)
{

char ch = s[i] ;

if(ch == ")")
{
string temp = "" ;
while(!st.empty() && st.top() != '(')
{
temp += st.top() ;
st.pop() ;

// if stack becomes empty while searching for opening bracket it
// means more no. of closing brackets then opening brackets
if(st.empty())

return false ;

st.pop() ; // pop the opening bracket

// if temp string is valid i.e. comma and alphabets are at
// proper place then push V (V -> Valid)
if(is_valid(temp))
st.push('V') ;
// if temp is not valid then it is not a recursive list
else
return false ;
}
else
st.push(ch) ;

char last_char = st.top () ;
st.pop() ;

// if stack doesnot become empty then it shows there are
// more opening brackets as compared to closing brackets
return (last_char == 'V' && st.empty()) ;



int main()

{
string s = "(a,(b,c),(d,e, (f,g),h))" ;
cout << recursive_list(s) << endl ;
return 0 ;

}

Ques 4 -

#include<iostream>
#include<stack>

int main()
{

using namespace std ; string str = "231x+9-" ;

bool is_valid(string str) cout << is_valid(str) << endl ;
{

stack<int> st ; return 0 ;
for(int 1 = 0 ; i < str.length() ; i++)
{

char ch = strl[i] ;

if(ch >= '0' & ch <= '9')
st.push(ch - '0') ;
else

{

if(st.empty())
return false ;

int el = st.top() ;
st.pop() ;

if(st.empty())
return false ;

int e2 = st.top() ;
st.pop() ;

if(ch == '+')
st.push(e2 + el) ;
else if(ch == '-")
st.push(e2 - el) ;
else if(ch == 'x')
st.push(e2 x el) ;
else if(ch == '/")
st.push(e2 / el) ;

if(st.empty())
return false ;

st.pop() ;

return st.empty() ;




